
Type: MSh 635 (60Hz,110V)
Part no.: 72231213114

Item Part no. Designation Quan
tity

Price RPR excl.
VAT (USD)

AT

0010 31901017007 Motor housing 1 on req. -
0020 32816025003 Control rod 1 on req. -
0030 32816039001 Slider 1 on req. -
0040 32805118004 Slide switch 1 on req. -
0050 32805118013 Slide switch 1 on req. -
0060 51203024113 Stator 1 on req. X
0080 43002022995 Cylinder head screw M3,5X40 2 on req. -
0100 30712055011 Brush holder 1 on req. -
0101 30712056014 Brush holder 1 on req. -
0110 30711062001 Carbon brush 2 on req. -
0130 43041007990 Fillister head screw M3,5X18 2 on req. -
0140 30701060000 Switch 1 on req. -
0150 30722037004 Capacitor 1 on req. -
0160 43003013991 Flat headed screw M3,5X5 1 on req. -
0175 30707097010 Cable with plug 1 on req. -
0180 31413142009 Cable grommet 1 on req. -
0190 32431021007 Cable clamping piece 1 on req. -
0200 43041001994 Fillister head screw M3,5X10 2 on req. -
0210 32427028006 Cover 1 on req. -
0211 31415042008 Pressure piece 1 on req. -
0212 32414083003 Housing insert 1 on req. -
0220 43066002992 Countersunk screw 1 on req. -
0230 43003025992 Flat headed screw M3,5X32 1 on req. -
0260 53203027116 Armature 1 on req. X
0330 41701001172 Grooved ball bearing 2 on req. -
0400 31506294005 Intermediate bearing 1 on req. -
0410 31510069008 Collar bearing 2 on req. -
0415 31510069017 Collar bearing 1 on req. X
0420 42615090002 Circlip 4 on req. -
0430 41701001172 Grooved ball bearing 4 on req. -
0440 33406217007 Shaft 2 on req. -
0450 42443002992 Circlip M3,5 4 on req. -
0460 43041024997 Fillister head screw 4 on req. -
0470 42644002007 Circlip 2 on req. -
0480 31004033007 Fan wheel 1 on req. -
0490 42446012004 Disc 1 on req. -
5000 32119084018 Handle 1 on req. -
5010 63207111001 Collets 1 on req. X
5020 62901003008 Jaw spanner SW9 1 on req. -
5030 62913020004 Retaining pin 1 on req. -
5040 33901065007 Tool case 1 on req. X
9000 34100324069 Operating instructions 1 on req. -
9010 34150324010 List of spare parts MSh635 1 on req. -
9020 34130054061 Safety instruction 1 on req. -



Type: MSh 635 (60Hz,110V)
Part no.: 72231213114


